Scottish Ford Fiesta ST Cup
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Pos | Car No. [IName Class| 1 2 3 4 5 6 7 8 9 10 || 11 | 12 | Total
1 147 |Gerry HENDRY 25 | 25| 35| 25| 20| 25| 30 | 25 || 20 | 25 255
2 21 Kieren PREEDY 16 | 16 | 30 | 20 | 10 [ 14 || 35 | 20 || 25 | 20 206
3 99 |James DICKIE N 10| 9 | 26| 16| 9 1 26 | 16 | 14 | 14 141
4 35 |Andrew MACKIE 12 | 14119 | 12|12 | 12| 22 | 14 || 5 8 130
5 5 Lorn MURRAY C 5 7 16 | 14| 8 9 || 24 | 12 10 105
6 83 |Sophie KINGHORN CN 8 12 14| 8 6 10 || 20 | 10 9 97
7 58 |Kenneth LEES CN 3 2 13| 6 5 8 18 9 12 | 12 88
8 52 |Dave COLVILLE 7 10 || 24 16 | 20 77
9 3 Stewart SCOTT 6 6 10| 9 4 7 17 7 66
10= 31 Broddy ORR 20| 20| 18 | 3 61
10= 30 |Michael GORDON N 3 10| 4 3 5 16 8 7 5 61
12 7 Stuart MURRAY C 4 4 17 10| 7 42
13= 24 |[Steven GRAY 25 | 16 4
13= 61 Peter CRUICKSHANK 7 6 19 9 41
15 95 |Paul CURTIS 9 8 || 20 | 2 39
16 14 |Duncan STEELE C 2 5 15 | 10 1 3 36
17= 17 |Angus ROSS N 12| 7 4 8 4 35
17= 23 |Lucy HALES-MAVER 1 10| 5 2 6 6 30
19 68 |Arran WARD 14 22 14 | 25 16 | 16 25
20 32 |Daniel FORBES N 1 11 1 2 6 21
21 79 |Calum BRUCE N 0

Car No.68 - 25 Point deduction



Scottish Ford Fiesta ST Newcomers Cup
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Pos | Car No. [Name Class|| 1 2 3 4 5 6 7 8 9 10 || 11 | 12 || Total Diff
1 99 |James DICKIE 251 20| 35| 25| 25| 10| 35| 25| 25 | 25 250
2 83 |Sophie KINGHORN 201 25| 30| 20 20| 25| 30 | 20 16 206 -44
3 58 |Kenneth LEES 16| 14 || 26 | 14| 16 | 20| 26 | 16 || 20 | 20 188 -18
4 30 |Michael GORDON 14 [ 16 || 10| 12| 14 | 16 || 24 | 14 || 14 | 14 148 -40
5 17 |Angus ROSS 24 | 16 || 12 | 14 16 | 12 94 -54
6 32 |[Daniel FORBES 10| 12 22 ] 10| 10 | 12 12 88 -6
7 79 |Calum BRUCE 12 12 -76




Scottish Ford Fiesta ST Challenge
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